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Seating Arrangement Questions for IBPS Clerk PRE, SBI Clerk PRE, SBI
CLERK MAINS, IBPS CLERK MAINS & IBPS RRB.
Set No 22

Direction: Read the given information carefully and answer the questions given beside:

Twelve key members are invited by the party President to discuss the points to be included in
their party manifesto. They sit in two rows each of which contains six persons. Members in
both the rows face each other and are equidistant with the persons sitting adjacent. Raghu,
Gopi, Somi, Sethi, Abram and Anu are sitting in row-1 and they face towards east. Prabhu,
Deva, Javed, Atal, Puri and Gil are sitting in row-2 and they face towards west. One person of
one row faces the other person of the other row.

Prabhu, who is sitting at one of the ends of the row, is second to the right of Puri. Raghu does
not face Prabhu or Puri. Raghu is third to the left of Anu. There are two persons between Deva
and Gil. There is only one person between Somi and Sethi, Somi and Sethi do not face Prabhu.
Gopi is neighbour of Somi. Atal, who does not face Sethi, is not the neighbour of Deva.

1. Who among the following faces Anu?

A. Deva B. Puri C. Atal D. Javed E. Gil

2. How many persons are sitting between Abram and Somi?

A. One B. Two C.Three D. Four E. None

3. Abram is related to Javed in the same way as Gopi is related to Atal. On this pattern
Anu is related to:

A. Gil B. Prabhu C. Puri D. Deva E. None of these

4, Which of the following statements is true about Gopi?

A. Gill is the neighbour of that person who faces Gopi.
B. Somi is not the immediate neighbour of Gopi.

C. Abram is second to the right of Gopi.

D. Puri faces Gopi.

E. Gopi is second from the left end of the row.

5. Who are sitting at the ends of the row-1?

A. Prabhu, Gil B. Anu, Raghu C. Sethi, Abram D. Prabhu, Atal E. None of these




Correct Answers:

Common Explanations:
Step 1.
References

...Prabhu, who is sitting at one of the ends of the row, is second to the right of Puri. Raghu does not face
Prabhu or Puri...
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Step 2.
References
...Raghu is third to the left of Anu...
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Step 3.
References

...There are two persons between Deva and Gil. There is only one person between Somi and Sethi, Somi and




Sethi do not face Prabhu...
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Step 4.
References
...Gopi is neighbour of Somi. Atal, who does not face Sethi, is not the neighbour of Deva...
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Step 5. Final Chart.
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Answers :

1.

On the basis of the information given in the question, we can have the following seating arrangement:
We can clearly observe from the figure that Anu is facing Gil.

Hence, option E is correct.

On the basis of the information given in the question, we can have the following seating arrangement:

We can clearly observe from the figure that two persons- Raghu and Gopi are sitting between Abram
and Somi.

Hence, option B is correct.

On the basis of the information given in the question, we can have the following seating arrangement:
We can clearly observe from the figure that Abram and Javed at the left ends of the rows. Gopi and
Atal are third from the left end. Anu is second from the right end, In row-2, Deva is second from the

right end.

Hence, option D is correct.

On the basis of the information given in the question, we can have the following seating arrangement:
We can clearly observe from the figure that Puri faces Gopi.

Hence, option D is correct.

On the basis of the information given in the question, we can have the following seating arrangement:
We can clearly observe from the figure that Abram and Sethi are sitting at the ends of the row-1.

Hence, option C is correct.
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